Do Now: #8 from the Practice section of the
Reducible Functions packet

Sketch the graph and state the domain, range, coordinates of any hole(s), intercepts and the equations
of any asymptotes. ,2
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Name: Date:
PC: Oblique Asymptotes Ms. Loughran

Do Now: ‘ ,,L- X"'b:O

1. Find the vertical asymptote(s) of the function y = " 3 X-b X = b

X=b (st 0)
2. Find the horizontal asymptote of the function y = % = ()%X&r.) K.r : tj = X ‘\-l
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4. What is the domain of the function y = —1_—12 ?
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When the end behavior of a rational function is not horizontal (meaning there is no horizontal la-m‘: (D '—))
asymptote), it is oblique.

Recall: In what situation is there no horizontal asymptote for a rational function?
—1{ ¥he dzﬂm of the nomwrakor 9 Hhe dtﬂ\m of Hye dthomingor.

To find oblique asymptotes:

1. reduce the function if possible
2. divide the numerator by the denominator using long or synthetic division

3. the oblique asymptote is y = the quotient (I ghoﬂ -Hv rem amdu’)
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1. Find the oblique asymptote of y =
x+2
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2.  Find the oblique asymptote of y = —1 .
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3. Find the oblique asymptote for y =
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4. Find the oblique asymptote of y =
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Function Hole(s) Vertical Horizontal Oblique X- y-
Asymptote(s) | Asymptote | Asymptote | intercept(s) | intercept
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Homework 01-04

Function Hole(s) Vertical Horizontal | x-intercept(s) | y-intercep
Asymptote(s) | Asymptot |
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